Example of a sideways table:



Results for Datasets #1 and 2.

Table 1

000 €6°9% | 1€°9T | 90°9C | L97¢ 98°.¢ | S9°ST | 8T'LT | 8€LE 18°%9 69°6T 19°8% | €8°9¢ || 0009°0
€10 L9°61 I8 | ¥9°02 | S¥'IE 6391 T6'¢ | LTIT | ¥6°€¢ 8G°2¢ 9¢°¢1 19F%¢ | ¥¥%¢ || GL8C0
L8% €821 ¥6'¢ | $O°LT | $£°8¢ G6'TT ¥I'C | TOST | €71¢ P 0L% SO'LT | S8°LT || SL8T0
1.6 g8’ 98°0 | LETI | ¥0'9¢ 7€'6 10°0 | 89°ST | S€6C 300 8T'FI- | 990 | 99°€T || ST9¥0
GEIIT 12°¥ 0%~ | ST'0T | 6£72C 861 90°.- | 6201 | ¥8%¢ || €2°SLT | 8€'12I- | 29°C6- | 9°29- || 00S€0
T1 | weoy [ 10 11 | wesy [ 10 T1 | weey | 1n
anpea-,q uorNqLIsip-9 anfea-q uonNqLIIsIp-1 anpea-,q uoIINqLI)sip-1
sd4 DO# AN# ourLy, 7
SjuowdINSeoOW JudwosoIdwW] ‘g# josee(]
000 392 0L'6 | ¥2°0T | SS'6¢ eYT G0'8 | TL'ST | ¥1'ST G6°9¥ P91 | €2°9¢ | 88¥E || 000L0
00 68°TF | ¥6'FT | L8FC | ¥9°¢¢ G9'L¥ | 68°ST | 99°GC | LT¥E 0T'9% 09T | €0°9¢ | 0L¥¢ || 08L8°0
201 €0°S% TYT | 6762 | 90°Cy || 1,08 | €91 | L0°1E | LTEF £0°0¢ 60°LT | €6'T€ | ¢T'¥F || 00SS°0
9% 8¥ 8681 099 | TSLY | ¥1°LC 792 ¥6'8 | 0961 | £€8°S¢ 0%'¥ ehe- 048 | TF6T || 08L%°0
7'89¢ e1's8 8T'0 | €811 | €1°%C ¥6'11 67’1 | 16C1 | T0'ET 98'¢9 €8'19- | 6ScF- | 98°9%- || 000% 0
11 | weoy | 10 11 | weay | 10 11 | weey | 10
anpea-qg uorInqLIsip-1 anpea-J uoInNqLIIsIp-1 anpea-,g uoIINqLIIsip-1
sdad DO# AN# owrf, 7

SjuowRINSeOW JuswoAoIdwW] ‘T# jose)e(]




